Responder’s second bid (part 2):   Opener rebids in a new suit

Opener has made a rebid consistent with a minimum opening bid

Let us consider responder’s possible actions when the bidding has started with the sequence






West

East





 1(

 1(




 2(

  ?

East may choose from the following actions:

Responder’s rebid is a weak call





The bidding starts:

West
East









  1(      1( 









  2(       ?   
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Responder makes an invitational rebid
When responder has enough strength to believe that a game is still possible (but not enough to insist upon it) then he will make an invitational bid.

This may be a limit bid, similar to a limit bid as the first response (a raise of one of partner’s suits or a bid in No Trumps) or it could be an invitational jump rebid of responder’s suit.

Such a bid would invite opener to look again at his hand and see if he has anything in reserve that would allow him to accept your invitation and press on to game.

The bidding starts:


West
 East






  1(       1(





  1(        ?


East


West
East  

  1(      2(
  2(       ?















Responder can bid game




Responder bids the fourth suit

Sometimes you will have a good hand but still not be sure of the right place to play. Suppose the auction starts







and you hold







Meanwhile, what can you bid? A simple rebid of your suit (i.e. 3() is non-forcing, as is a bid such as 3( or 3((which are limit bids).

The solution is to bid the fourth suit.

After


West
East




  1(      2(



  2(


that bid would be 2(.
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Opener’s bid after fourth suit forcing
We should briefly consider how opener would continue after the fourth suit forcing bid. This is not too difficult if we remember that the message of the FSF is “please describe your hand further”.

The fourth suit bid can hardly be natural, as with three suits already bid and reasonable values, responder would probably bid some number of No Trumps. Note that responder must have at least invitational values.

If opener wishes to bid No Trumps now, he will therefore need a stop in the fourth suit.

Fourth suit forcing at the 2-level must imply at least invitational strength. Since opener is encouraged to rebid in No Trumps even with a minimum opening hand, providing he holds a stop in the fourth suit, then the responder should have at least the strength for a 2NT response, i.e. 11-12 points.

If opener then makes a minimum rebid, this is non-forcing, and the bidding may finish below game - the invitation is declined. Of course, with additional strength himself, responder may bid on.

Since the use of the fourth suit at the 3-level would still invite opener to bid No Trumps with a stop in the suit, and this would have to be a bid of 3NT, it makes sense to play the bid of the fourth suit at the 3-level as forcing to game.

Responder’s second bid when opener has shown extra strength
Sometimes opener’s rebid in a new suit promises more than a minimum hand. One obvious example is when opener has reversed:


West
East

  1(      1(
  2(       ?


Opener has shown extra strength - responder wishes to go on

West
East

  1(      1(
  2(       ?

West
East

  1(       2(
  2(        ?


Responder may still use the FSF principle after a reverse by opener:
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Opener has promised no more than a minimum opening bid, and has shown 5 or more Hearts and 4 or more Diamonds.





 	Weak calls:  		Pass, 2(, 2(





     	 Invitational calls:  	2NT, 3(, 3(, 3(





      	Game calls:  		3NT, 4(, 4(





      	A bid of the fourth suit:  	3(








(  A J 8 7


(  6 3 2


(  J 8


(  Q 4 3 2





With this hand you would simply return to opener’s first suit. Such a call, known as “giving preference”, promises no extra strength at all. It simply says that, of the two suits bid by partner, you would prefer that the first suit (which in this sequence should be longer than the second) should be trumps. Between you, you have more Hearts than Diamonds . Bid  2(.





(  K 10 9 3


(  6 3


(  Q 8


(  Q 10 6 5 2





East





(  K 10 9 3


(  6 3


(  Q 8 3 2


(  Q 10 6





Again you must give preference to partner’s first suit by bidding  2(. It would be a mistake to pass his 2( bid because you have a high card there. Always remember that partner should have more Hearts than Diamonds, so this should be your preferred trump suit. Partner has no reason to place you with “support” for Hearts. Preference is not the same as enthusiasm!





Now you do have genuine support for opener’s second suit, and you would much prefer Diamonds to be trumps rather than Hearts. However, with a limited hand there is no reason to take the bidding any higher. No bid.





With about 10 or 11 points, you would raise to 3( (limit bid)





(  A J 10 7 6 2


(  6


(  K 4 3


(  J 9 8





This time, your Spades are quite good, and it is correct to rebid them. This does not promise any more than a minimum response, but does promise a decent (almost certainly 6-card) suit. Bid 2(. Partner will not bid on unless the repetition of the Spade suit improves his hand. 





 West        East


    1(         1(


    1(           ?





(  K 10 9


(  J 10 6 3


(  Q 8


(  Q 10 9 2





When partner has bid a new suit at the 1-level, then you would not normally pass the new suit bid unless you would have passed an opening bid in that suit. In other words, your first response was sub-minimum and simply an attempt to improve the contract. Responder’s rebid in No Trumps is similar to an initial response in No Trumps. Bid 1NT (6-9 points).





(  K 10 9 6


(  A J 10 6


(  Q 9 3


(  J 2





No problem here. You have support for partner’s second suit and should show this by raising him. You would have raised an opening bid of 1( to 3(, so this is the bid you must make now. This bid is non-forcing, just as would be an immediate raise of an opening bid to the 3-level. With the King of Clubs instead of the Jack (giving you 13 points) you would raise to 4(.





(  K 10 9


(  K 6 3


(  6 3


(  A J 9 6 2





Your first thought is probably 2NT. However, opener, by not rebidding in No Trumps, has shown an unbalanced hand. This will be based on a 5-card (or longer) Spade suit You would have raised an opening bid of 1( to 3( with 4-card support, but now that opener has shown at least 5 Spades your 3-card support is enough. Bid 3(, an invitational raise (like 1( - 3(). 





(  J 6


(  K Q 10 6 3


(  6 3


(  A J 9 2





  West        East


    1(         1(


    1(           ?





You have enough to invite game, and the most descriptive bid is 2NT. This shows about 11-12 points (the same as a response of 2NT to an opening bid) and here will also show a secure stop in the unbid suit (Clubs). Partner may pass, or bid one of his suits again if he does not wish to go on to game. Note that if partner now bids 3( (showing 3-card support for your suit) it is forcing.





(  K 6


(  K Q J 9 6 3


(  Q 6 


(  10 6 2





Once more you have enough to make an invitational bid, and the right bid is 3(. This shows about 10-11 points together with a good 6-card suit. Partner now has a good picture of your hand and can bid on, or pass, accordingly.


This jump rebid of responder’s suit retains exactly the same meaning if opener rebids at the 2-level (e.g. 1( - 1( - 2()





  West        East


    1(         1(


    1(           ?





(  J 6


(  A Q J 9 6 3 2


(  6 


(  K 6 2





Now you have a self-sufficient suit and, taking into account your distributional strength, enough for game. Bid 4(.


Opener will expect your suit to have no more than one loser, and may bid on with strong controls and minimal support.





(  J 6


(  K Q 10 6 3


(  Q 3


(  A J 9 2





This is very similar to a hand we considered previously. Now, though, the strength is enough for game. With a secure holding in the unbid suit, which is quite likely to be led, you can bid 3NT. This is identical in strength to an initial response of 3NT to an opening bid (about 13-15 points).





   West         East


    1(           2(


    2(             ?





(  J 6


(  A 4


(  A J 2


(  K J 9 6 4 2





You have enough for game, but are unsure of the best final contract, which may be 3NT, 4(, 5(, 5( or even a slam. On a hand such as this, you need more information before you can decide where you are going. 





Such a bid shows good values and asks partner to describe his hand further. It says nothing about your holding in the fourth suit itself. In fact, you probably don’t hold much there yourself or you may well bid No Trumps at this stage.











Opener has shown about 16+ points, although after a response at the 1-level the bid is not forcing. 








With a weak hand, responder can:


Pass	     prefers Hearts (although opener has more ( than ( )


Bid 3(     simple preference for Diamonds


Bid 2(     showing decent Spades but no wish to go on








Any bid by responder other than those already considered (Pass, 2( or 3() is best played as forcing to game. In particular, a bid of 2NT here should be forcing, as otherwise too much bidding space would be wasted if responder had to jump to 3NT with fair values.





After a response at the 2-level, the reverse is forcing to game. Responder need only jump at this stage to show significant extra values.





(  5


(  A K 9 6


(  A Q 10 7 5


(  K J 4





(  K J 10 8


(  J 8 3


(  K 8 2


(  Q 2





	West		East


	  1(		 1(


	  2( 		  3(


	  3NT		no bid








After West’s reverse bid, East knows that game should be on. However, game in a minor requires eleven tricks, so the option of 3NT should be explored. East cannot bid No Trumps without a Club stop, so he uses FSF. West has a Club stop and can bid 3NT.








